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15. The figure below, shows a net made up of thres 19, The table below shows the number of times the
reciangles and two triangles. teams Simba, Moto and Dawa won, drew or lost ia
— & competition. Three points were awarded for each
BUALWAARARNTAUSELESASLARSEENARRNERY  game won, one point for sach game drawn and 1o
points for a game lost, c

<aeeper bought cooking fat in 30 ome
packets and 20 five hundred gram peckets.
Cha seracbiad-the fat io- nackeis af 425 srams each
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19. A JROL. G- BIG B IROe N Of & e T - s 1o
rectangle. The semi-circle has s dizmeter of 14m
while {be rectangle measurcs 20m by Sm. What is
the area of the plot?

(Take :=2—72-)

scale used?
A 1:20
B. 1:200
C. 1:2000
D. [:20000
expresssd as a
A L%
B 3%
C! m‘
D. 12%%

21.

The total number of pupils enrolled in schools in 2
district was 43000. In a pie chart ths number
enrolied in secondary schools was represented by an
angle of 120° whils, that in the primary schools was
represented by 150° The rest were enrolled in the
pre-primary schools. What was the number in the
pre-primary schools?

A. 36000

B. 20000

C. 16000

D. 12000

Which ons of the following sets of messurenwnts
can be used 1o construct § right-angled triengle?
A 4fcm, 6cm, 9em

B. 3icm, 5tam, 6om

" . 24em, 3cm, 3} em

D. S}cm, 9am, Iitom
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23. hmymlhewn!bnc‘(luﬂnnlpxtm i

~-3400. In the following year, the population reducsd
by 25%. Waal was the size of the population of
p::ﬂumfxlhemdncnm'[
A 5%
B4250 o
=~ 338
D. 2355

24. The two parallel sides of a trapezium measuze 16cm
8nd 2cm The perpendicular distance beiwesn the
parallel sides is Schn. What is the ames of the
trapezium?
A 12em?
B. 768 co?
C. U’
D. 160 cm?

23, The lengeh of the two diagonsls-of a rhombrs axs.

8cm and 6 cm. What iy the length of one side ¢ G.3
rhombus?
A 3cm
B 4em

v C, Scm
D. 0em

26. Amina peid 3h 24 000 for & TV set afles geiting &
mhwm|mmhunindmufmew

A. h 30 000
B. <h 28800
C. sh19200
D. sh 20000

" 28. Constroct triangle PQR such that line QR =3 cm,

angle PQR =45° and angle RPQ = 55°, What is the
leagth of tne PQ7

A 63cm

B. é&cm

C. 137em

D. 96em

29. A Saleslndy carus & basic salary of sk 4 000 For any

sales above sh 10 000, she is also paid a commission.
In on¢ mouth she sold items worth sh 40 000 and
carned a tocal of sh 4 900. What was hér perceniage
commyjsvion?

A 24%

B %

>4 IS{%

D. 2}%

30. Agola bought 5 oranges and Mwangi bought u + 1

oranges. Murni bought twice as many oranges as
both Agola aund Mwangi. Which oge of the
following expressions shows (he total number of
orangss they bought?

A Gu+3

B. Ss+2

C 4n+2

. D a+3

31. Twenty members of & group contributed sh 80 000

each to buy s picoe of land. They already had
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27, In the figwre below, iins &F is paraliel 1 ling GFL

Lines JX and LM itersect at N. Angle Ni
and angle NRF = 160°.

=14°

30 12000 m o bank out of which i &0 000 was o
ccmein in the baok and the rest spent in buying the
piece of tand,

How much did the picoe of land cost?
A. sk § 720000
B. gb 1700000
C. s 1600000
D. &1 180000
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32, The. diagram b:low
which line FG-lSem.llnn

o

EFG=90°.

E

.4

What is the arca of the triangle?

A
B.
C.
D.

60 om?

68 om?
120 em?

. 127-5 cm?

36,

Thenumb«olehi!dmnl:ﬂhndm:w@mm
than that of adults. The entzy fes for each child was
sh 15 while that of each sdult was sh 30. The total
amount of moncy paigd by the children was sh 2 055.

How much monsy was paid by the children and the
adults altogether?

A. sh7635

B. 3h460S

C. a83375

D. sh2640

+ A cylindrical block has a diameter of 14 o and 2

height of 10 cm while, a rectangular block measurcs
15 cm by 10 cm by Scm. wmumamh

their volumas? (Take ,:—)

A, 310em?!
B. 790cm’
C. 2%0cm’
D. 5410 cm®

A clock gains (2.5 seconds every hour. If it was set
correctly at 800 am on Sunday, what time will it
show when the correct time is 8-00 am on Thursday?
A. 825am
B 220am
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J3. Fupus

35,

garden
of dizmeter 28 metres. They dug holes each 4 metres
apart along the circumference fos planting flowers.

Howmmyholuweredutl(’l‘nh ,,-E)
y/

A 154

3. 88

€. 1

D. 22

- Jane Qeposited sh2000 in 2 bank that paid

compound imterest at the rsie of 12% pa. How
ouch moncy was in her sccount st dhe end of two
years?

A sh 2308830

B. sh 2480

C. sh 2240

D. = 508-30

‘What is the valuz of x in the squation

%(x-5)+§(3t+9~l07

90w
- * he

C ®l0am
D. 805am

39. Kacle, Mwasi sod Mbitbe shared some moaey.

Mwasi got 3 of the money and Mbitha gat 2 of the
remaindes. What fraction of the money did Kaole
num?
A g

-]

B 3
[+3
D.

B L
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highest speed?
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C. LandK
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An open cylinder has a radius of 3+ cm and a height
of 10 cm. What is its surface area?

(Take za-i%
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42,

43,

The table below shows the postal rates for sending 2~

moncy order,

VALUE OF -

Not exceeding 500 sh 42
501- 1000
1001~ 3000
300)- 5000
5001-10000
10 001-20 000
20 001-30 000

Mambo sent two money orders, one for sh 17500
and the other sh 10 000.

How much money did he pay at the post office
altogether?

A sh 736

B. sh27500

C. sh28236

D. sh28 117

Below is part of the construction of a quadrilateral
KLMN with diagonals meeting at centre O.
Compiete the construction and draw a perpendicular
from L to mest KN at P.

~45.-

awmluhhmrarapmy Furaha contributed
sh 30 more than Gitahi while, Komen cantributed
thres times as'much as Furaha.

I Komen contributed $hx, which ope of the
equations below can be used to find Komen's
contribution?

A. 5x-90 =1200

B. 5x-90 = 400

C. 5x+90=1200

D. 7x-30 = 400

Katana’s car uses | litre of petrol to cover 12:5 km
while Simiyu's car uses 1 Litre to cover 9.6 km. )

Hmhmwvmmkm,ﬁwmudlmwpeuol
douSmxyulwmlhnMn’s"

A. 11057 ;

B. 6251

C. 4801

D. 1451

Given that Mx=£"'°—"
the value of M?

A 01

B 1

and K=165, what is ~
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48. The floor of a square room is covered completely by
four cqual square carpets. The area of each carpet is

Q 3Bm’.
What is the length' of one side of the room in
metres?
A 6%
L B3
M G 3%
What is the length of LF? D. 1§,
A. 78cm
B. 67cm 49. Tbe hire purchase tenms of a cupboard is s deposit
C. 46cm of sh4400 and six monthly instabnments of
D. 44¢ sh 900 each. The hire purchase price is 175% of the
cost price while the cash prioe is 25% more than the
44. Muya earns sh 5400 after working for ,24 days. cost price. S .
How much money should he recsive if he is absent
for 6 days? What is the cash price of the cupboard?
A. sh 1350 A. sh 9800
B. sh 4050 B. sb 5600
C. sh 7200 2 C. sh 7840

3. sh 6750 3 & D. sh 7000
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KCPE 2003 MATHEMATICS
1. What is the place value of digit 3 in the aumber
78304027 =
A. Hundred thousands
B. Ten thousands
C. Thausands
D. Hundreds

2. What is the value of 3(5 - 4%) + 51 + IT?

A a2
B 9
C 30
D. 62

3. The heights of six pupils were recorded as | 3521,
142m, 1'40m, 1-50m, 1-35m and 1-38m ¥hkat
was the median height?

A 12Sm
B. I'¥n
C. 140m
D. 145w

4. Florence bought 18 bags of fruits at sh 300 per bag. *

She speat s 700 on transport. The fruits in two bags
ot spoilt and she sold the rest at sh 520 pér-bag.
.How much profit did she make?
A. sh 8320
B. sh3260
C. sh2920
D. 562220

9. Kamau wants to get change for a sh 1000 noce. The

10. Oloo slept at 23154, on Sunday and woke up six
hours later. On what day and time did he wake up?
A. Sunday 515am
B. Monday 515 pm
C. Monday 515am
D. Sunday 515 pm

11. What is the difference in value between the LCM of

8.and 12, and the GCD of 36 and 547
A 104 .

B. 8 o
c. S
bt QY
ad
12. m@}‘wu of 3 of ($+4)+4?
ANE
B 2%
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D. 44

Which one of the following is 30030030 in wo
A Thhyltiﬁ)n::hmdndudﬂnﬂy ‘:\M.
B. Thiny million thousand and thirgy. ™ > 13, A reciangular container measures 75 cm by
- 5 3 y 50 cm by
C. Thirty smillion dhirty thousand and : 1 m. Whial s the capacity of the colainer in litres?
D. Thisty million thres bundred thirty. A 37508
% B T8I
0-3bxi- y
wnuunazuor——“() C 2
1- . D. 375t
A 833 (\‘} e
B 24635 74, What is the measure of the interior angle XYZ of
C. 02635 the quadrilateral WXYZ constructed below?
D. 002635 Lo
Wasifwa Bought the following items from a shop: e
S kg of sugar @ sh 4500
4 &g of tea for sh 90-00
3 kg of rice @ sh 3000
2 kg of cooking fa: @ sh 70:00
If e witd 3 one thousand shillings note to pay for
the items, witas balance did be reccive?
A sh#i0
B. shdsy
C. shS%
“ D. sh 765
A 10°
What is 468-3894 rounded off to the nearcst teath? B. 140°
A 40 C P
B. 4683 D. 2
C. 46839

D. 4684
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